> A
A & 0l & AF 2 E A A
20189 = S0l & LB H FAH=SX W
2M: =ASI
N ZH=ASX
chelt EH ORI CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FHEXH 20,210,213 18,924,219 1,285,994
= 15,379,892
J| 250,000
= 1,270,747
Al 3,309,574
=AHA=XNSH 20,167,845 18,884,083 1,283,762
= 15,379,892
J| 250,000
< 1,270,747
Al 3,267,206
FHATX A 18,084,602 16,523,433 1,561,169
= 15,368,492
< 1,195,327
Al 1,520,783
FH=0 17,076,102 15,349,933 1,726,169
= 15,368,492
< 1,195,327
Al 512,283
301 e A= 16,076,102 14,013,000 2,063,102
= 14,468,492
< 1,125,327
Al 482,283
01 MI2ZE +06l= 16,076,102 14,013,000 2,063,102
OMASE FAHASWH(LXU=A) 16,076,102
= 14,468,492
< 1,125,327
Al 482,283
403 MtXISHH S =0l & 1,000,000 1,336,933 A 336,933
= 900,000
S 70,000
Al 30,000
02 S 2SO HEAE R E AL 1,000,000 1,336,933 A 336,933
ONMLAESE FHSAH(=HERX) 1,000,000
= 900,000
< 70,000
Al 30,000
FHN=EXds 29 1,500 1,500 0
201 Let2d] 1,500 1,500 0
01 At 22l 1,500 1,500 0
OFH=XAE2 4+ 1,500
=& FHEINUHERZ 2Z 5,000 5,000 0
201 Let249] 5,000 5,000 0
01 At 22/l 5,000 5,000 0
O&=8 FAH=2ANUERI 294 5,000
FHEN 2 =4 2,000 2,000 0
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FH=X
FH=NEA
FH AT &

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
203 H R =&l 2,000 2,000 0
03 Al =X A2 =& 2,000 2,000 0
OFAH=EN2E g2 =2 2,000
SEANOIE =&H XA 600,000 600,000 0
403 XSS A0l & 600,000 600,000 0
02 SO 2SOICHe 2R 2 E A I 600,000 600,000 0
ORELUHOHIIE =&Hl X 600,000
HASHE gUHESZ N 400,000 400,000 0
501 X3 400,000 400,000 0
01 22t Xt= 400,000 400,000 0
OMASHE 2UHESS NE
4,000,000& *100& 400,000
FHAAHNS FAHSIMNA 1,467,800 1,391,600 76,200
= 11,400
| 250,000
< 75,420
Al 1,130,980
HASHE =8 HES 500,000 644,000 A 144,000
| 250,000
Al 250,000
101 124 dl 250,000 328,000 AT78,000
| 125,000
Al 125,000
4 D12t ZE2XREES 250,000 328,000 A78,000
OHASHE Le2xe N2 250,000
J| 125,000
Al 125,000
206 M= Hl 250,000 316,000 266,000
J| 125,000
Al 125,000
01 =8l 250,000 316,000 A 66,000
OMASHE === HES 250,000
| 125,000
Al 125,000
H=E M= B2 700,000 500,000 200,000
401 Al& I 28I 700,000 500,000 200,000
01 A& HI 700,000 500,000 200,000
O&=8 A3l=8 22 700,000
H=E AMal=8 2A=H =4 5,000 0 5,000
201 et 5,000 0 5,000
01 At 221l 5,000 0 5,000
OAME =& AIHEE 1,320
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A FHSEXNSH

S FHAANE FAHESZ ML (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMIIEHBHF=M FH23 LAY 1,160
OAMEFE A8 AMARIE AAIE 2,520
HIE AHIAIS 240,000 240,000 0
= 72,000
Al 168,000
401 A& HI L 204 HI 240,000 240,000 0
o 72,000
Al 168,000
01 Al&H| 240,000 240,000 0
OH - Z2J1 &4l 240,000
& 72,000
Al 168,000
SHE HOQ=& JHZAIL 22,800 7,600 15,200
= 11,400
& 3,420
Al 7,980
402 SI2FXHE0| & 22,800 7,600 15,200
= 11,400
& 3,420
Al 7,980
02 BIZtXIEANYEX(0OIETH) 22,800 7,600 15,200
Os0HE HOHOIFE AL 22,800
= 11,400
& 3,420
Al 7,980
FHOE AHIAXNEH 145,000 165,000 A 20,000
ARAMOIOIE dMIIR=E2 XA 140,000 160,000 A 20,000
301 et A= 140,000 160,000 A 20,000
01 Al B & A 462 140,000 160,000 A 20,000
ogzxAUMoIIIE dII=E Nd 140,000
HUXHRH AL 5,000 5,000 0
201 et 9| 5,000 5,000 0]
01 AP 2t 2| H| 5,000 5,000 0
ONUHXNIBIRSH At 5,000
HOotA K& 470,443 804,050 A 333,607
OH OISR A At 470,443 804,050 A 333,607
101 Q121 H| 138,983 482,590 A 343,607
04 JI12ZtHIZ22NEES 138,983 482,590 A 343,607
OO ot A AL 138,983
[ Rl 125,027
&, A= &4 123,074 & «313Y +3H 115,567
-E &3 3,153, 110& *3H 9,460
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PEHEXSE
CofIloheRA X

CEHE .S (3H) - MBAY - B2 il HDS2
@402 E 115,560,000& *10% 11,556
@ Ll =t 200,000& x124 2,400
282 A 130,460 128,460 2,000
AP 22l Bl 106,860 106, 860 0
OdIldtA At 106,860
@ LISIRAHME 2HbI
10,000, 000-& *4 4 Al £ 40,000
O==E=HME 3,500
@ LIctRAHE R20o1AHH| 2,400
[ F=g=dsll 3,360
[ PNA=RTNE= 1,200,000 =122 x4 4 &l & 57,600
=329l 21,600 21,600 0
odluloteA Z32HH| 21,600
0===2gHl ¥ A 3,000,000& x4 4 Al E 12,000
@ X & & Ety| 200,000 x12& 4 & & 9,600
SHAF2 A HI 2,000 0 2,000
oOF8ZZ2nNs 249 A=) 2,000
o4 bl 6,000 6,000 0
= LH O I 6,000 6,000 0
OodfIldtA At 6,000
@ 2 LY 4,800
@22 1,200
TH 2 ] 140,000 160,000 A 20,000
2 | 140,000 160,000 A 20,000
OISR A ALY 140,000
O NUI AP 29,500, 000& *4J1 Al £ 118,000
OFUEUWAMY Mz 20,000
QLT IHE F&2XYH S 4848 MEF2Y 2,000
A&EHIZ 20| 55,000 25,000 30,000
Al &l 55,000 25,000 30,000
OUtSMHE 3 LAH 25,000
OFRUNNEZE FHA ul| 20,000
LES FAE & 33201 J] (&0 off &t
) 10,000
& HI (==X ) 42,368 40,136 2,232
(=ZH=X ) 42,368 40,136 2,232
HI(EA=ZXD) 42,368 40,136 2,232
28t 2 A Y| 19,208 19,856 N 648
01 AFR2t2ld] 19,208 17,856 1,352
oget2H| 9,800
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F=H= X
WY 2LZH (FH=EX1)
2 (=ASXN)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

O= &l 9,408

202 oddl 20,160 17,280 2,880

01 = LH 4 1l 20,160 17,280 2,880
OJleg =80l 20,160

203 2P E= | 3,000 3,000 0

04 RN 2GR =T 3,000 3,000 0
ORN2IYSZ=AHI 250,000& »12& 3,000




